[ Unit 2 - 4 EOC Review

A shop sells one-pound bhags of peamits for $2 and three-pound bags of peanuts for ¥5. if 9 bags
are purchasad for & totat cogt of $38, how many e pound bags were pyrchased?

Solving
1. 2.
. Look at the steps used wiven solving 3{x - 2} = 3 for x. Which ordered pair is a solution of 3y + 2= 2x - 59
Mx-2=3 Write the original egquation. A5, 83 =¥ -]
3X-6=3 Use the Distributive Property. . (0.5) Y 2w
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What is a common factor for the expression 24x” + 18x + 1447
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A certain population of bactetia has an average growth rate of 2%. The formula for the growth of
the bactexla’s population is A = P, « 1.62", where F, is the original population and ¢ is the time
in hours,

if you begin with 200 bacteria, ahout how many bacteria will there be affer 100 hours?
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A manager ks comparing the cost of buying basebal] caps from two different companies.

+ {ompany X charges a $50 fee plus $7 per baseball cap.
» Company ¥ charges a $30 fee plus $9 per baseball cap.
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H K12} = 4(12} ~ 20, which function gives f{x)?

A. Ffixy = 4x
B. fxj=12x

Fx} = 4x - 20
B flxp=12x - 20

AT . Fwwhatnumberurhasebal!capswisimewstbeme comparfes?
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Which of these is the vesult of I 59 4 Bx - 307
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If §12) = 100{0.50}*, which expression gives f{x)?

A. flx)=0.50°

B. fix}= 100"

C. fix} = 100(x)*
@) fix; = 100{0.50¢

10. Spriationd
What ars the[Zerospf the function reqresented by the quadratic expression 2x” + x - 37
x=—%am‘lxﬁ1
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11.

What are the sofutions to the equation x” - Bx = 147

| XF &y D

(X =20 r2y=0
X=7 X=- >

B. x=-14 x= -1

@ x=-2 x=7

D.ox=-1x=14
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An object i3 shrowr into the air with 2n inftinl velocity of 5 m/s from & halght oF @ i, Tho oguation |
h{t} = -4.9F + 5t + & models the height of the object In motess aftor t seconds.

Ahout how many seconds doos i take for the object to hit the goumf? Round your answer to the
noarest tonth of g second.
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13.
Which system of equations is satisfied by the point (-1, -4)?

¥ SUbstiture

14,
Which BEST deseribes the system?

Solve for x in the following equation:

v=mx+b T+
b —b
A o m
Ax=y—— b= X
b: prram———
ea m
m -
Oy - 270
m
.
D, =22

O+ 3y =6 = Ax=1ls |':3X'B- )

@x-y=3 ~t==Yz g ¢ Lﬁi} 2y J
Ta-y=-37L1) « A =24y £ =3 :

B.y=-3x+4 A. The system cannot be solved
=3y B. One solution; the eguations represent intersecting lines
ST s C. No solution, the equations represent parailel lines

Codx+y=2 Infinitely many solutions: the equations represent the sams line

x-y=3

D.6x-12v=24
x-6y=4

15.

16.
Solve the mmequality 4 - 5x < 14.
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Graphing and Characteristics

1.

A population of squinels doubles every year. Initially, thers wera 5 squirels. A blofogist studying
the squirrels created a function to medel thelr population growth: Pt} = 5{2%, where t is the time
in years. The graph of the fanction is shown.
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Which vaiues best describe the range of the poputation?
A any raat numoer pep Frackon 5 ‘fb"h‘i_ TVLiD
| BT any whale member grantes than © Syt éj’)’ &
€. any whole number greater than 3
any whole nurmber groater than or squai to 8

2.
Use this graph to answer the question.
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3. 4.

Which of these is an even funciion? Which function shows the function fix} = 3° being translated 5 ynits down?

(Ex =3 -5
=Byl _x' p} B. fiy=30 % 44— et

A. fixp=50¢—x" ¥ C. g =3® ¢ Pignt

B. fix}=35%+x" © R

© m=62-82 E

D. fixj =4+ 2 pl
5. _ 6.

What is the end behavior of the graph of f{x} = ~0,25%" -~ 2x + 17 | Basec on the tables, at wha point do the fines y=—x + 5 and y = 2x - 1 i_n_t;_r_ggt_j
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As X increases, fix) increases. As x decreases, f{x) decreases, y=-u+8 ye:-t m‘;ﬁa
As x increases, f{x) decreases, As x decreases, fix} decreases. * ¥ ¥ Y e
B As x incraases, fx} increnses. As x decresses, Ax) increases. ': : '; '? e -tha
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B. Which graph represents 3 system of linear equations that has wiitiple comman coondinate

7. e

Which siatement BEST describes the graph of fix + 6)7

A. The graph of flx) is shifted up 6 units,
The graph of f(x) is shifted laft 6 units.

C. The graph of fix) is shifted right 6 units.

D. The graph of fix} is shifted down 6 units,

9.

Which statement BEST describes how the graph of g(x) = ~3x2 compares to the graph of Ra) = |

A. The graph of g{x} Is & vertical stretch of Fx) by a tactor of 3. 'FO! )= S
B. The graph of g{x} is a reflection of f{x} across the x-axis.

C. The graph of gix} 13 & vartical shrink of £x} by & factor uf% ard 4 refiection across the z-axis.
The graph of gix} Is a verticat streteh of f{x) by a factor of 3 and 4 reffection across the x-axis.

10.

. Twu Hires are graphed oa this coordinate plane.

Which point appears to be a solution of the equatiens of both lines?

A (0,1
B, 0.4

Which equation represents this graph?
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Look at the graph,
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12.
What is the y-intercept of the graph of h{x) = 2* - 47

Wt 1S wonerd

A (0.-4) M
(0, -3) X =0

C. (0.1 ° _

D. (0,2 o ‘4

| -4

13.
What is the range of the graph of f{x) = ~3(x ~ 4)?

A(x) = -3 12

7

A (3.4}
B. (-3, =}
{=e. 4)
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Arithmetic vs Geometric .

1.

Which funciion represents the sequence?

2.

Which function represents this sequence?

. plri2l sl 4l s

. z z 3 . 2 6 {18 [ 54 | 162 | 486
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3. 4,
Look at the sequence in this table.
Which explicit formuta describes the pattem in this table?
4 112 3 4 5
d ¢ a |-tj1i{3}5s |7
0 “ NS GA
? Yy Which function represents the sequence? +2 +2
1 <]
A a=a  +1
2 | ®s,-3, 2
3 216 L.oa =22 -1
D.a=2a -3
A. C=86d
B. C=d+6
©c-¢
B. C=g*
5.
Cansider this pattem. l kﬂ

Which recursive formuta represents the sequence that represents the pattem?

3,, = 4y Fi
B, a,= (4%
€. oa =(a)q""
b. an = (B’,,T‘




Comparing

1.

A table of values is shown for fix} and g{x).
I

X #ix) x Bix)
Q Q ) ¢} ~2
3 -1 -k
Z o2

3 3 &
& 16 4 13
E] 25 5 29

Which statement compares the graphs of f{x) and gix} over the interval [0, a)?
A. The graph of fix} shways exceeds the graph of g(x} over the interval [0, 5
B. The graph of glx) always oxcesds the graph of fx) ever the interval {0. 8}

€. The graph of glx) exceeds the graph of fx) over the interval {0, 4], tive graphs intersect at a point

hetwean 4 and 5, and then the graph of fix) asciads the graph of gix).

& graph of fix) exceeds the graph of glx) over the interval |9, 4, e draphs intersect at & point

between 4 and 5, and then the graph of g(x) exeeeds the graph of fix).

2.

Which statement BEST describes the wmpa.r.i;_onzn'f the function values for qx} and gix)?
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A. The values of i} will always exceed the velues of gx).
B. The values of gix} will always exceed the valkes of fixj.
C, The values of fix} sxceed the values of g{x} over the interval [0, §).

€0 Tre values of gix} begin o excesd the values of fx) within the interval 14, 51,

Which staiement is true about the graphs of exponentiat functions?

A. The graphs of exponential functions never exceed the grapbs of near and quadratic furictions.
B. The graphs of expenential functions aways exceed the graphs of finear and gquadratic functions.
The graphs of exponential functions eventually excesd the graphs of linear and guadratic funstions,

D. The graphs of axponential functions evertuslly exceed the graphs of linear functons byl not
quadratic fnctons. -

4,

this function for call dup The cells every minate,
fx} = 7B
The 75 is the indtial number of celis, and the 2 indicates that the number of cells doubies every
minute.
B. The 75 Is the initial number of-cells, and the 2 ingicates that (he number of sells increases by 2
every minute. .
The 75 I3 the numbar of cells 8t & minute, and the 2 indicates that the number of cells doubles
very mitite, .

I The 75 15 the numbar of cells ot 1 minute, and the 2 indicates that the number of cells increases
by 2 gyvery minute.

3.

Which function is modeled in this table?

X Ax}
1 8

) XS
2 40 ‘) <
3 200 X
4 1,000

A fixl=x+7
B fixj=Bx+8

C. fixy = (BY

foy = £ o1

é.

Which table represents an exponential function?

A- X 0 i 2 3 l_
¥ & 1.8 7
N o
B.
X 0 1 2 3 4 L
y | 22 |84 | 66 | 88 | 110
~ 21
c. 0 1 2 3 4 k—
¥ . i3 23 29 37
R
B, [+ 1 2 3 4
y | 3 \_7‘9 27 | 81 | 243




